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(1-5) : Read the following passage carefully and answer the questions given
below it.

Primitive man was probably more concerned with fire as a source of warmth
and as a means of cooking food than as a source of light. Before he discovered
less laborious ways of making fire, he had to preserve it, and whenever he went
on a journey he carried a firebrand with him. His discovery that the firebrand,
from which the torch may very well have developed, could be used for
illumination was probably incidental to the primary purpose of preserving a
flame.

Lamps, too, probably developed by accident. Early man may have had his
first conception of a lamp while watching a twig of fiber burning in the molten
fat dropped from a roasting carcass. All he had to do was to fashion a vessel to
contain fat and float a lighted reed in it. Such lamps, which were made of hollowed
stones or sea shells, have persisted in identical form up to quite recent times.

1. Primitive man's most important use for fire was ....... i
(1) toprovide warmth " (2) tocook food
(3) to provide light (4) to provide warmth and cook food

2. The firebrand was ﬁsed - T——
(1) prevent accidents (2) provide light
(3) scare animals (4) save labour

3. By'primary'the author means............
(1) primitive (2) fundamental
(3) elemental (4) essential

4. Lamps are probably developed through mere...........
(1) hazard (2) fate
(3) chance (4) planning

5. Earlylamps were madeby............
(1) using a reed as a wick in the fat

(2) letting a reed soak the fat
(3) putting the fat in a shell and lighting it
(4) floating a reed in sea-shell -
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(6-10) : The blanks in the following passage are numbered 6 to 10. For each blank,
four possible options are given. Identify the correct one for each blank.

6
7
8.
9

10.

In 1893, Lokmanya Tilak converted the Ganpathi festival into public ceremony.

He campaigned ........ (6)......... the........ ™....... circulation of this public celebration
through out Maharashtra. It was ...... (B)...s this festival that he could
.......... (9)......... public .........(10)......... to the nationalist movement.

(1) towards (2) for (3) with (4) withstanding
(1) early (2) slow (3) wide (4) sudden

(1) through (2) from (3) before (4) indeed

(1) advise (2) control (3) mobilize (4) demand

(1) places (2) support (3) festivals (4) grievances

(11-15) : Read the sentences that are numbered at the beginning of each sentence
in the following passage. Each sentence has an error. Identify the wrong word/phrase
and its correct one given together as one of the options.

11‘

12.

13.

14.

15.

(11) The students in my class would hand in an assignment on Friday. (12)
Madhu goes all out to get a good mark. Renu usually just goes in the motions of

writing an essay, but this time he's really pulled his finger out and is going out
of his way to write something good. (13) He says if he wants to get an'A' by hook
or by crook. (14) Paul says he found the assignment as easy as to take candy
from a baby. (15) Vani says that, however she had a good go at it, she found it
quite heavy-going.

(1) in—of (2) would —have to

(3) hand in — hand on (4) on-—in

(1) goes —is going (2) all out—all the way

(3) to get — getting (4) mark-marks

(1) if-that (2) wants—wanted

(3) an'A'—the'A' (4) or-—and

(1) found - finds . (2) aseasy as— easier than
(3) totake — taking (4) a baby — the baby

(1) however — although (2) had - has

(3) atit—withit (4) quite — very

[3] Turn Over



16.

17.

18.

19.

Y-2

Q. Booklet A

Code

'Has the shirt been washed?'

The above sentence can also be expressed as ...........
(1) Was it washed by somebody?

(2) Has somebody washed it?

(3) Was the shirt being washed?

(4) Did somebody wash the shirt?

'Which flowers do you want? .............. ?

Complete the expression by choosing the correct option.
(1) This one or that one

(2) This or that

(3) These or those

(4) These ones or those ones

(A) Do you want to go out?
(B) Are you tired?

The sentences (A) and (B) can be combined into a single sentence using the

conjunction ..............
(1) and (2) but
(3) because (4) or

This pen is ok but I think the otheroneis...........
Complete the sentence by choosing the right option.
(1) nice (2) nicer

(3) more nice (4) nicest
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20. It's raining and Padma is going out.
She hasn't got an umbrella but you have one. Then you say .............
(1) Would you like to borrow my umbrella?
(2) Do you like my umbrella?
(3) Would you liked my umbrella?
(4) You want to borrow my umbrella?

21. 'Why did your brother write such a letter?'
The passive form of the above sentence s ............
(1) Why was such a letter written by your brother?
(2) Why did such a letter written by your brother?
(3) Why have such a letter written by your brother?
(4) Why is such a letter written by your brother?

22. 1 wish you would not chatter so much.
In the above sentence, 'would' expresses .............
(1) arequest (2) past obligation
(3) astrong desire s coneyeeanprObability

23. The 'courteous leave-taking' in letter writing is called ................
(1) salutation (2) greeting
(3) subscription (4) superscription

24. "l hear lake water lapping with low sounds by the shore".
Identify the figure of speech used in the above poetic lines.
(1) Simile (2) Alliteration
(3) Onomatopoeia (4) Metabhor

25. Identify the right order of the punctuation marks which represent 'pause’ from
the greatest pause to the shortest pause.
(1) Full stop, colon, semicolon, comma
(2) Full stop, comma, semicolon, colon
(3) Comma, semicolon, colon, full stop

(4) Semicolon, colon, comma, full stop
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28.

29.

30.
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"Ramesh doesn't like sweets".

Identify the correct 'addition' to the above remark s ..........
(1) Sodol (2) Somustl

(3) Nordol (4) NeitherdidI
Seeyou............. week

Choose the correct option to fill in the blank.

(1) on next (2) next

(3) in next (4) at next

Read the following sentences.
(A) Do you like horses?
(B) Do you like a horse?

Which sentence is correct?

(1) Both (A) and (B) are correct.
(2) Neither (A) nor (B) is correct.
(3) Only (A) is correct. -
(4) Only (B) is correct.

The boy who was missing is safe now.

Identify the correct newspaper headline for the above news.

(1) BOY FINDS SAFE

(2) BOY FOUND SAFE

(3) BOY IS FOUND SAFELY
(4) BOY WAS FOUND SAFELY

A : May I borrow the car?

Identify the correct response of B. (Grammatically)
(1) No, I'm afraid you may not.

(2) No, of course you may not.

(3) Yes, I'm afraid you may.

(4) Yes, of course you will.

(6]
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[ am /thinking /to change/ my job.
Ay (B (©) (D)
The above sentence is divided into four parts (A), (B), (C) and (D).

[dentify the part of the sentence which has an error.

(1) (A) 2 @B

3) (©) 4) (D)
She............. in a car crash.

Identify the correct option to fill in the blank.

(1) dead (2) isdead
(3) isdied (4) died

Identify the grammatically correct sentence.
(1) Suddenly the door opened itself.

(2) Ifeel myself strange.

(3) She's old enough to dress herself now.
(4) Try to concentrate yourself.

Identify the discourse marker that 1§ 1iS8d f6T giving examples.
(1) on the whole (2) moreover
(3) forinstance (4) consequently

The parts of the sentence (A), (B), (C), (D), (E), (F) and (G) are jumbled. Identify
the right order to get a meaningful sentence.

a / life /older of [Getting / fact

@A) B/ ©fD) (® (¥) (G)

(1) (B), (G), (E), (C), (D), (A), (F) @ (E), (©), (G), (A), (F), (D), (B)

@) (E), (G), (C), (A), (F),(G), (A),(B) (4) (E),(B),(0),(G), (A), (F), (D)
Afriend of yours is very upset that he has scratched his new car. You could say;
"Don't make such a fuss. ...................

Choose the proverb that you would use in this situation.
(1) Actions speak louder than words. (2) Many hands make light work

(3) Blood is thicker than water (4) It's no good crying over spilt milk
Identify the wrongly spelt word.

(1) noticeable (2) changiable

(3) readable (4) peaceable
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Read the following complex sentence.

'How long I shall stay is doubtful'.

Identify its simple form.

(1) The duration of my stay is doubtful.

(2) Idonot know how shall I stay.

(3) Itis doubtful to me how long I shall stay.
(4) I am doubtful when I shall leave.

You should complete your B.Ed. ............

Your B.Sc. to get a teacher job.

Choose the right option to fill in the blank.

(1) according to (2) in addition to

(3) inspite of (4) 1inaccordance with

The little boy strode imperiously up and down.

The underlined word means...............

(1) politely (2) humbly

(3) proudly (4) respectfully

There are six sentences marked S, Sg, P, Q, R and S. The positions of S, and S
are fixed. Identify the right order of P, Q, R and S to make a meaningful
paragraph.

S, : Hetried the door.

P The room was neat and clean.

Q Then he stepped into the room.

R He waited for a minute or two.

S It opened easily and he peeped in.

S; : He was careful not to touch anything.

(1) PQRS (2) QSPR
(3) RPQS (4 SPRQ
- ——— thief was caught by the police last night.
Choose the correct word to fill in the blank.

(1) famous (2) popular
(3) renowned (4) notorious

He said, "Get out", to his peon.

It can also be written as ......

(1) He asked his peon to get himout. (2) He told his peon that he get out.
(3) He commanded his peon to getout. (4) He requested his peon to get out.
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Read the sentences (A), (B), (C) and (D).
Identify the sentence in which 'better' is as an adverb.
(A) I think yours is a better plan.
(B) I know better.
(C) Give place to your betters.
(D) The boxes with which he provided me bettered the sample.
(1) A) 2 @B
3) © 4 @D
There is a mosque in that street, ............ ?
Identify the correct question tag to complete the sentence.
(1) 1sn't there (2) isn'tit
(3) aren't they (4) hasn'tit
As he was not there, I spoke to his brother.
The above sentence contains an adverb clause of .........
(1) purpose (2) condition
(3) cause pssnm rssroson i eres o Rl ACE
Children love making mud castles.
In the above sentence, the gerund is ..........
(1) the subject of the verb. (2) the object of the preposition.
(3) the complement of the verb (4) the object of the transitive verb
An apology letter begins with ..........
(1) Iam glad (2) I am really sorry
(3) I am pleased (4) I wish to inform you
The three brothers shared the property .............. themselves while two others
()1 o L themselves for the property.
Choose the right option to fill in the blanks.
(1) between, among (2) among, between
(3) in between, among (4) within, between

Identify the pait of words in which the letter, 'c' is pronounced the same.
(1) Ceasg — homicide (2) Face —brochure
(3) Ace —ache (4) Peace — preach

(9] '
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In the anaerobic respiration experiment, the blue dye diazine green (Janus
Green-B) turns to which color when the supply of oxygen around it is short?
(1) Red (2) Pink

(3) Yellow (4) Orange

STPAs TS BAFNCE® DO tolb (TR Sares A5 (=05 B5-B) esdwl e
BB BAHED O BIED wrtteel?

(1) (2 rod oK

(3) sy 4 (4) O Soit

The number of cells are present in pollengrainis ..............

(1) One (2) Three
(3) Four (4) Two

SO Ceaip&® Sewe " O——

(1) 58 e (@) P
(3) e st sorrson o) s OOELD

The type of vegetative propagation in strawberry —

(1) Stolons " (2) Bulbs:
(38) Corns (4) Tuber
LDEE' 0h THO SEOEND B5S ceerrvverennns

(1) Jerx (2) - cimres
(3) S @) oo

In peas, a pure tall plants (T'T) is crossed with a pure short plant (tt). The ratio

of pure tall plants to pure short plant in F , generation will be .......

R SR 0 2850 (TT) 569300 3 w300 20k, (tt) & 505030 2083, F, 8006’

5 SR Dol 800K D T DK G0N, THB werrsseneenenes
(1) 1:8 2 3:1
&) 151 4 2:1
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Number of vestigial organs present in human beings is...........

SFHPNE" DERICIPROT i SEARCISTIO 0L ersessesssenee
(1) 95 2 120
(3) 180 (4) 240

SFpIE° TEUE FRAPPE00 2B0 50P5 cerereersene
(1) 21 (2 22
(3) 20 (4) 23

This vitamin iL synthesized by bacteria present in the intestine.

Code

(1) Cyanocobalamine (2) Niacin
(3) Folic acid (4) Biotin
25 55538 Hot wEOaP S3rs oo Deadol.
(1) Scuds'orend Q) don5
B) 85 awnE ” @) oarSS
The rate of photosynthesis is NOT affected by this factor
(1) Light intensity (2) Humidity
(3) Temperature (4) Carbon dioxide concentration
3besed SOMPI SO Texd (SEPDBO SRS SUEED seersrsassasess
(1) =od 1 2 o
3 s3fs @ sgSgegbmes
Chemical coordination in the body is brought out by ............
(1) blood (2) lymph
(3) enzymes (4) hormones
58006° BN HEOHEALTOE S erererrasenees
(1) % @ &%
(3) domswes (4) S50
[11] Turn Over
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60. The medicine is used for the snake bite.

(1) Caffeine (2) Quinine
(3) Nimbin (4) Reserpine
Fasre 50 &SairRcs wooke.
(1) 3B 2 33%
(3) DS 4 &85
61. Diabetes insipidus is due to the deficiency of this hormone.
(1) Insulin (2) Adrenaline
(3) Vasopressin (4) Parathormone
SOITRID FUMED B4 TS S0 S Seorbicd.
(1) 790 @) &S
B) Ty 4) SR
62. In molluscs, this is the excretory organ.
(1) Nephridia (2) Metanephridia
(3) Green glands (4) Malpighian tubules
oo, 8 pots DS LR,
(1) dpdowr (2) oRpiar
(3) 05 ogoes (4) SrDyEomn Toses
63. In Moll's half-leaf experiment, which part becomes bluish black for starch test?
(1) Total leaf (2) Leaf part in the bottle
(3) Leaf part outside the bottle (4) Venation of the leaf
28, et 3B BRFNCE et sty D P10 Dod Scey SEEE DD Sesh Lol BRteed
(1) Yrospan () 3 %0 3 grrtsw
(3) b decte Bperrsn (4) S Bde P
64. The gestation period of horseis.............
(1) 300 days (2) 330 days
(3) 380 days (4) 365 days
Hogo G0k, HOWRD SPERID wevecsessessens
(1) 300 &een (2) 3308w
(3) 380w (4) 365w
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Fossils of the dinosaurs Kentrosaurus are collected from this district in
Telangana state.

(1) Medak (2) Khammam

(3) Adilabad (4 Mahbubnagar

BT SFaonth & oo Do m&oé‘;) B4 2@ 000G eI,

(1) =8 (2 s

(3) sbod (4) sosrerdsib

The blood in veins always flows towards ...........

(1) Body parts (2) Heart

(3) Lungs (4) Tissues

25eE% b Josptir BUBY BE0D s

(1) %55 grmoen (2) smsoke

(3) &aOBB/e - (4) Seoren

Aorta which supplies oxygenated blood to the body parts arise from ..........
(1) right atrium (2) left ventricle

(8) right ventricle (4) left atrium

BTN esdeSaind S0, eoloms Mo JN,E 0ol FUCERSPBIOD werrmmes
(1) %4508 Q)  Desso w0

(3) ©A& oy (4) Do 508

The tissue responsible for the transport of minerals and water in plants.
(1) Xylem (2) Phloem
(3) Stomata (4) Guardcells

2o, 088 Dl Sodots pIe FAFTei SHIT Dok Seereins.
(1) =89 (2) 88 smeveo
(3) SpvoEs (@) g ¥eves
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The hormone responsible for phototropism in plants.

(1) Ethylene (2) Cytokinins

(3) Gibberellins (4) Auxins

o, T8 eRsNtve BrboES Sirsts .

(1) 2985 2 250

(3) 2£e0®S (4)  esdySy

According to Mendel's experiment, which one of the following vitamins is absent
in pea plant?

(1) Vitamin A (2) Vitamin B

(3) Vitamin D (4) Vitamin C

otb BaNo FTHte v 30k, & Bsesiton DwneSo

(1) DS A (2) dewsB

(3) 225D (4) 2ex5C

Identify the following pollengrains causes the allergy in the human beings.
(1) Mango (2) Neem

(3) Jatropa (4) Parthenium

BFSHIE" D08 ¥DASD STIdreo KQosod.

(1) sesd @) &

B) 2SS (4) Sodaiso

Which nerve controls the movement of jaw?

(1) 6* cranial nerve (2) 5" cranial nerve
(3) 7" cranial nerve (4) 8" cranial nerve
&S558 50056 Syt A,

(1) 6355Femd () 53 Euwa

() 7% 5>erd 4) 8% s>ewd
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Which one of the following teeths are useful for tearing?

(1) Incisors (2) Premolars

(3) Canines (4) Molars

HenER8 ESOTRSE Somreds HBoied?

(1) Xobses _ (2) eseesees

(3) S&vses (4) S&oTe

The river water said to polluted with acidic wastes if the pH of river wateris....
(1) zero (2) below 7

(3) above 7 (4) exactly 7

90 D SoTP e5Pe SPed SoobRsd & 93 Gy, PH 2655 e
(1) =y (2) 7Tsxyexns

(3) TE D (4) 7H8EFse

The cells gives the nutrients to the neurons are............

(1) Red blood cells (2) Monocytes

(3) Blood platelets (4) Glial cells

PEErOn FuTois wolod Seras i

(1) S &% srres 2) wFen

(3) & Pollen (4) Acwd seven

Famous photosynthesis equation was proposed by which scientists?
(1) Arnon (2) Hill

(3) C. B. van Niel (4) Jackson

08 esed; SoPKSAD $hosteTR) BOSDOIS TG Dt Kofoted.
(1) eone (2) 6

3) C.B.>»5%6 (4) =838

Skin has no respiratory role in organism. Identify it.

(1) Earthworm (2) Lizard

(3) Frog (4) Salamander

B0 TRO® FieSBal estisiensiod #00 IoQoued.

(1) osan @ B

@) =5 (4) &o&
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78. The heart beat of a new born child is ..............

S0 S DEOE® TS 0850 T3 wuereassensssens
(1) 100-150 (2) 100-120
(3) 80-90 (4) 70-80

79. Animal without red blood cellsis...............
(1) Frog (2) Crane
(3) Snail (4) Earthworm
BT 5200 B 8D wecececercncnns
(1) =5 @ Sox
3 = (4) T

80. Each dialysis session lasts for.................
(1) 2-3 hours (2) 3-4 hours
(3) 3-6 hours (4) 5 hours
SOEPONRE SEISVONN cesecsssessserene
(1) 2-3 fowes . @) 34 fowses
(3) 36 Howen (4) 5 rowen

81. The parts of flower which are still useful after fertilization —
(1) Style and stigma (2) Androecium
(3) Calyx and corolla (4) Owule
$edEtme e0xd HOW HYKER D {PNo SBDBIIIERIO0D wweessrerssscnse
(1) fec& doviic (2) Fsond
(3) UEE & sSrSER (4) eoto

82. Acrosome of spermatozoa helps in this function.
(1) Locomotion (2) Digestion
(3) Excretion (49) Fertilization
Do By, AEF Doy, .
(1) - Seto (2) o
(3) <85S (4) Pebsteo

Y-2 [16]




83.

85.

86.

87.

Y-2

This is secreted in the stomach.

dorsaiod’ DEstodlD.

(1) H,SO, (2) HNO,

(3) HCl (40 NaOH

Father of genetic is used for this scientist.

(1) Darwin (2 Morgan

(3) Wallace (4) Mendel

2305 Fg DTSRI,

(1) =8 2 S

(3) & (4) woid

August Weismann conducted his experimentson........

(1) cats (2) rats

(3) dogs (4) deer

esr3D DD SETTPED ROBTD ererssereese

(1) &8 (2) ey

3) % (4) =c¥

TUCN was founded in this year.

IUCN @rtegisnd.

(1) 1980 (2) 1948

(3) 1950 (4) 2011

The vaccination given to a new born baby at birth.

(1) Influenza (2) DPT

(3) BCG (40 DDT

eyl S 208 Taoe Aodses Qi) Ty

(1) zopPcioe (2) DPT

(3) BCG (499 DDT
[17]
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Smitha converted her broken toy into a wall hanging. What is this?
(1) Reducing (2) Recycling
(3) Rethinking (4) Reusing

23 B e5e317°00, SADB D € ol atinesiss Dioeertis?
(1) Bhowxss 2) psdone
(3) ©0AesEfDonis (4) SBATREwe

Rain water harvesting improves..............

(1) rain water (2) drinking water
(3) ground water (4) storing water
RO 54 Poistio 9o TR BEATEC cerrrerrenne

(1) oo e @ @i

(3) R moo (4) e

€N .ceeennnnns

(1) an hour (2) a minute

(3) asecond (4) twohours

KpS'E6" S0 ) esd S 3¢ Satotto Do FeRcBETDs 8633 S0 wennnnnnnn..
(1) eSnow (2) w¥205%p

(3) e¥>x0 (4) Too Nowes

Find the gas, which is NOT a greenhouse gas.

(1) Methane (2) Ethane

3) CFC (4) Carbon dioxide

OB I T OB

(1) S (2) aS

(3 CFC | 4) soIge3s
[18]
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92. The place of Reindeeris............

(1) Tundra (2) Rain forest
(3) Desert (4) Valleys
B5EL00 O (SBFI0 vereererernes
1) o @ w9y
(3) =0 (4) &apes
93. Itisthe seat for memory and thinking in brain.
(1) Diencephalon (2) Cerebellum
(3) Mid brain (49) Cerebrum
esES00 ETre AioE™ &1 5PN k.
(1) oo (2) eoiyo
(3) ol Bosesd (4) sy
94. During cell cycle DNA replication takes place in the stage of ...........
(1) S phase (2) M phase
(3) G, phase st B)....G, Phase
52 5%0S" DNA B35S oK 5% wereesersns
(1) S (2 Mose 3 G, 4) G, e
95. The surface area of cerebrum is increased by ...............
(1) myelin sheath (2) gyri
(3) axons (4) dendrites
D0y, GO0B FTee DLTRDH Ko T
(1) BS&eii> (2 7
(3) D52y, 4) ao@s,
96. Accumulation of this results in muscular pain.
(1) Citric acid (2) Nitric acid
(3) Hydrochloric acid (4) Lactic acid
THo® Toy Sl o SWes.
(1) »E8 esiao (2) S@sve
(3) pEFosiw (4 o

Y-2 (19] Turn Over



97. The most poisonous of all waste products of metabolism is

98.

99.

100.

Y-2

(1) urea (2) uricacid
(3) ammonia (4) biliverdin
£5530508" XD (SHTEEERNG B STPYO cwrerrrersens

(1) cxrdasr (2) oclrosvo
(3) eRrlar 4) PO

A gland that is close to kidney like cap.

(1) Liver (2) Adrenal
(3) Pancreas (4) Thyroid
B Bbomdd S8 Py ed.

(1) sdano @) &6

(3) Saxe (4) ook
Identify which membrane forms the umbilical cord.
(1) Chorion (2) Allantois
(3) Amnion (4) Placenta
LI 0D B30,

(1) Soraso 2 deostand
@) aep @) eoay
The solution, which is useful for decolorise a leaf.

(1) Water (2) Iodine

(3) KOH solution (49) Alcohol

&35 19008 SOl Solotsat GIEPRSE TS0,
(1) (2) earaS
(3) KOH graro (4) esopsd
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101.

102.

103.

104.

105.

Y-2

PART - III
Q. Booklet A

PHYSICAL SCIENCE Code
The amount of heat required to raise the temperature of 1 gm of water to 1°C
1S ceveenennens (in joules)
1 gro D3 &2Birsiss 1°C 1 o3 eseties a5 THe8' ..
(1) 4.186 (2) 4.286
(3) 4.108 (4) 4.208
The substance that is having least specific heat from the following.
(1) Zinc (2) Mercury
(3) Water (4) Kerosene
308 TRE° eitigen Dfise No SRS,
(1) =c§ 2) Ssuse
(3) X (4) 3%S

The heat energy required to raise the temperature of 20 kg of water from 25°C
20 TBUCAE .o eians (in calorie)

20 &.qm. © D3 &30 25°C 00d 75°C £ DoSEEIS SR &3 3606E’ o.nnnnnn.
(1) 108 es o sk @Y L O
(3) 10° 4) 10°
The vitamins that help in preventing the spoiling of food.
(1) Vitamin C and Vitamin E (2) Vitamin A and Vitamin C
(3) Vitamin A and Vitamin E (4) Vitamin A and Vitamin K
e3:5800 RSSO DegHOCreots S350 PEDy Dwlodes.
(1) DesdoS C wodais DS E (2) Deoded A w8 Desded C
(3) DS A 98050 oS E (4) DedoS A Ssdain Do K
The C. G. S. unit of heat from the following is ............
(1) Joule (2) Calorie
(3) Kelvin (4) Celsius
808 A& &ite Bty C. G. S. BP0 crvenresresonns
(1 =% 2 %
(3) 30 (@) BELH
(21] Turn Over



106.

107.

108.

109.

Y-2
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Code

Cao + H,0 - Ca(OH), + Q (heat energy)
The above chemical reaction is an exampleof ..............
(1) chemical combination (2) chemical displacement
(3) chemical decomposition (4) double decomposition
Cao + H,0 — Ca(OH )2 + @ (heat energy)
D EAD D8 BAY AT curerenneen.
(1) B3aws Sodrne (2)  ERaws Fgicso
(3) IR SR (4) St dBrNe

XAl + FeyO3 —— AL O, +Y Fe

To balance the above equation the values of X and Y respectively are ...........

D BROBEE0 190 Boeie DALEEDL errdys X 5080k ¥ Desden S ...
(1 1,2 2 22
(3 2,1 4)..2,3

hitps:/A

The substance formed when magnesium burns in airis .......... ..
(1) blue coloured magnesium oxide (2) red coloured magnesium oxide

(3) white coloured magnesium oxide (4) green coloured magnesium oxide

Dofiphotioo TOE® 08 DR ST wereeessennne
(1) DBoor> Rofpaiie e3,E (2) R Bold Rofpsacive e53E
(3) Bed Ao e (4)  esn0 ihaio 3,8

The enzyme that is responsible to change the colour on the cut surface of the
fruits like Apple, Bananaiis..............
(1) Zymase (2) Tyrosinase
(3) Invertase (4) Lactase
QrDE, 3 erod Sogs SRHED, 5% &30Beo Horb BT TR OB «vurerenes
1) 2ok 2 o
() zxgé (4 o3&
[22]
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111.

112.

113.

Y-2
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Code
The principle that tells that "light selects the path which takes least time to
travel"is .............
(1) Fermat's principle (2) Huygens principle
(3) Peter principle (4) Fresnel principle
TS DLhnls BAFRTIeo S5 S YOG LT DSno0e0eid By SO e
(1) soplarpe ) Ao
(3) Sebisrpe (4) Pdarpe
If the focal length of a mirror is 20 cm, then its radius of curvature (incm)is.....
&5 8530 TgIeBto 20 0.D0.00 woass TR ST TR0 20.80.088 euveeennnen
(1) 20 2 30
(3) 40 (4) 50
If an object is placed at a distance of 10 cm from a convex mirror of focal length
15 cm, then the nature of the image s ..............
(1) real and inverted (2) real and erect
(3) wvirtual and inverted msmaseranfd)eniitual and erect
15 To.bo. TH0tt0 Ko Sogrs Stheso Bwotis 10 Do.bs. BSOS’ SRS SO Dty
PODow oFrTey ...
(1) Bodorsss Je 30Dowo (2) e e (BDowo
(3) BoBotsBs Dugry @Dowo (4) 23 Doy 8Dowso
To get the inverted image having same size of object with concave mirror, the

object should be placedat ............

(1) focal point

(2) center of curvature

(3) between focal point and center of curvature
(4) beyond center of curvature

RITSE Bho DS SRESORPEPOL A $05;ee SOA, Bo8otBd E&Dowo DGECns

(1) ~dow Dotssy = (2) Sz dosan
(3) =8, “Eor Somio wxy (4) wSEoe oo wve
[23] Turn Over
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114. Olfactory indicator from the following is ...............
(1) turmeric (2) onion
(3) methyl orange (4) litmus paper
308 TS TS BT e
(1) S35 (2) &
(3) b esced (4) Bepods
115. Tooth decay starts when the pH value of the mouthis ............
SOBEAI0 (SUCERICIIHNES F2206% pH 2658 wervenrerreeeee
(1) 5.4 (2 56
(3) 5.7 (4) 5.8
116. The formula for Gypsumis............
OVSSERSH T I L J—
(1) CaSO, 2H,0 (2) CaSO, 3H,0
3) CaOCl, @ CaSo, -;-Hgo
117. Pair of strong acid and strong base from the following is ...........
1800 D6 £ERH €550, LU THINS BB wuerrreeenn.
(1) HCI, NH,OH (2) CH,COOH, NH,OH
(3) CH;COOH, NaOH (4) HCI, NaOH

118. Ifthe refractive index of glass is % , then the velocity of light in glass (in m/sec)

(- —

e Glooly, SRS Horie g €0 TPerS” 5900 Do 3./, €6° erreveriesennes
(1) 3x108 2 2x10°

3) 4x108 4 25x108

Y-2 [24] -



119.

120.

121.

122,

Y-2

Q. Booklet A

Code

Which is NOT an application of total internal reflection from the following?
(1) Optical fibre (2) Mirage
(3) Sparkling of diamond (4)  Blue colour of sky

300 TG 3300 ST D T06.

(1) wuxbpub, 2) Semirges
(3) Lo Bzvio (4)  e=%n Quy, DOt

When light enters from air to a medium 'X', its speed becomes 2 x 10® ms™!, then

refractive index of the medium 'X'is ......... (Speed of light in air = 3 x 10® ms)

FeE el X o airste & 582005 o0 3k 2 x 108 /571 BP0 es o ' X
G, 93 Korasis (78S e W00 3 x 108 2./3.)

(1) 2 2 3

3) 15 4 1

tps:/i

Identify the lens maker's formula from the following.

(800 TRE® K35 HAE DD K0GOS cevnnnnnn...
1 1 1 1
w f-0-0)(F -7 @ 1-ee)(z-5)
l_mopyfL_L el L
® 770975 @ =03 %)

If the image distance of a convex lens of focal length 25 cm is 75 cm, then the
object distance (inem) is ............

(1) -37.5 (2) 37.5
(3) 50 4 -50

[25] Turn Over
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124.

125.

126.

127.
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Code
When a convex lens is placed in water, its focal lengthis..........
(1) decreased (2) becomes zero
(3) doesn't change (4) increased
0475 570 AIE* SODINE T DSBS «..rveneea.
(1) it (2) g
(3) s (4) Do

The minimum focal length of eye lens for the person of hypermetrog. a is greater
than.............

Bt e Byfhe Soud Keal X0 T BB 2595 cererrerreannens
(1) 2.27cm 2) 2.5c¢m
@) 25m 4 227m

The reason for low angle of deviation for red colour in dispersion of light is due

toits.............. 4

(1) low refractive index (2) high refractive index

(3) low wavelength (4) frequency

Sod JESrod’ Mgtk Dvese B YOLLFIS T, DS EOK QY evevnne
(1) 3855 roraso sy (@) &g forsSo ey

(3) torggo by (4) sugse

The distance between eye lens and retina is nearly equal to...........

5036 K508, DS 08 SPBO T cuvnnensnnennn

(1) 2cm 2 2.5cm

(3) 3cm (490 3.5cm

The molecules of atmosphere that are responsible for blue sky are.............
&S5y NOBOID TECIA TTHERNED SEBHED e,

() H,0 @ N,, H,0

3 0,, H, (4) N,, O,



128.

129.

130.

131.

132.
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Code

Choose the correct increasing order of substances arranged based on their

refractive index.

"Water, ice, kerosene"

(1) ice > water > kerosene (2) ice>kerosene > water

(3) water > ice > kerosene (4) water > kerosene > ice

300 STrepeis HESSS romTe SPEOT® 00y SOGIS esthives H80H .........

0, 0w, 35

(1) Soome > M > %5 (2) w0 > 3695 > Hw

(3) St > ety > 36%5 (4) o> 38%5> mew

The valency of an element which belongs to 3™ period and 2™ group of the
periodictableis............

ROAPAE 3e356° aresd HOAHE, Botss I B Dol Harets CVEE T
(1) 2 2 3

@) 4 4 5

https:/A

The orbital that is having least energy among 3p, 4s, 3d, 4p is ............

3p, 4s, 3d, 4p 0)rE, &° weyid lio OPE ............
(1) 3p @) 4s
3) 3d (4) 4p

If the angular momentum quantum number [ is equal to '3' then maximum
number of electron that can be accommodated in all orbitalsis ...........

Srioths (Esoedin Shs0s0 Somy 13" eawss 9 250y rEE° Yot MR KR D05 568 crrrrnen..
(1) 6 (2 14
(3) 10 4 2

If an element has 3 electrons in the M shell, then the element s ...........

&8 oroso qoy; M 55006" 3" dogpSen Pintand, € 5aP0ES uun.n.evnnnn..,
() Mg @ Al
®3) Si (4) Na
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134.

135.

136.

137.
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The electronic configuration of chromiumiis ...........
300 T0E° §oao @y, N ST C—
(1) [Ar]4s%*3d* (2) [Ar)4s%3dd
(3) [Ar]4s'3dP (4) [Ar]4s'3d°
The set of elements that is NOT a Dobereineri triad from the following.
300 TRE° ebish (BEEL T BoFOTO SIS ceenrereene
(1) Ca, Sr, Ba (2 Cl Br1
(3) Mn, Cr, Fe 4) S Si, Te

If the elements A, B, C, D have the following electronic configuration, then the
elements that belongs to the same group of periodic tableis...............

A-2,3 B-2,83 C-2,8,5 D-2,8,7

A, B, C, D &3 soreses @i 5rds Joge vvgse $DAged, bociral 3:356° o8 1o
OB DOTOTHS veesrrrearsnnnee

(1) A B ————— > W 6]
3 CD 4 DA
The biggest and the smallest atoms from the following respectively are ......
oD TRE® DY STAPLAY, i SEATLANHO SEXIMP cerersecsorssnes

C,Si,N P
(1) N,Si 2) Si, N
3) C N 4 NP

For the formation of ionic bond the electronegativity difference between atoms
of two elements should be............

(1) greater than or equal to 1.9 (2) lessthan or equal to 0.9

(3) equalto 1.5 (4) equaltol

Colh BreTel Tl SEAFTAHes SRl 1x0t08 PEToo T S 106 DOTHER0

PSS = R B
(1) 1L9B Tt dsmPesd (2) 0.9 5 sard0 Bor BiH ™ Hocd

(3) 1.5 %S v Yod 4) 1% Hood

[28]
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141.
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The scientists proposed VSEPRT theory are .............

(1) Sidgwick and Powell (2) Gillespie and Nyholm
(3) Davy and Powell (4) Davy and Nyholm
VSEPRT oot SOPB00 TR0 ceuereanes

(1) EDE Bstas 36 (2) ABly SeBcio ZStSd

(3) &2 sobaxs Fad (4) D Sodain I

The molecule having 104° 31’ as bond angle is ............

104%.31' = Do¢§‘m TP KO BILR) cevereecrcsecsses
(1) CH, (2 H,0
3 NH3 4) C2 H,

An element 'A' forms a chloride AC! ” the number of electrons in the valence

shellof'A'is .........

hitps:/A

A’ &3 Bareo ACI, 5 Dtisis, 'A’ Gloly, BBy DO TH00 BODg errrerrecrseess
1 1 2 2
@ 3 4 4

The melting point of Tungstonis.............

SR UL TR R, Y —
(1) 3420°C (2) 3422°C
(3) 2420°C (4) 2422°C

To detect leakage of gas from the cylinder the substance added to the gasis......

e 20otb Mool M SE20 KogoiSERE TGS £ 50D SO wererseessssees
(1) C,Hy SH @ C,H; OH
(3) CH,COOH 4) CH,CHO
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143. If CH; - CH, - CH, — COOH is the IUPAC structure of a hydrocarbon, then
that hydrocarbonis.................

(1) Butane (2) Butanol

(3) Butanoic acid (4) But-l-ene

2% &5y IUPAC doyeso CHy— CH, - CH, — COOH s €3 2ETYD wervones

(1) e:m;ﬁs 2) m'scn-s

(3) wrerd§esio (4) rgS1-5w
144. The name of functional group— C=0is.........

(1) Aldehyde (2) Ketone

(3) Esters (4) Ethers

00K 3507590 — C = 0 DD cevverernervenees

(1) edipE (2 &%

(3 6 s o esnrnon o Yoo RS -305D

145. The metals having high reactivity from the following.
"K, Na, Mg, Zn, Cu, Au"

308 S55508° ek FATBOB KO e

"K, Na, Mg, Zn, Cu, Au"

(1) Zn, Cu, Au 2 Cu,Zn, Mg
(3) K, Na, Mg (4) Na, Mg, Zn

146. The ore of mercuryis................

(1) Galena (2) Cinnebar
(3) Gypsum (4) Zincite
PEXTSO GBNY, TRIY serererenssnesess

(1) = (2) e
() &80 (4) 2085

Y-2 [30]
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147. The first scientist who identified the relationship between electricity and

magnetismis................

(1) Oersted (2) Ampere

(3) Lenz (499 Ohm

555, ead,080 © B Sowegr) KEoDs s o
() eabps (@) wodash

(3) & | 4) £

148. An induction stove works on this principle.

(1) Electric induction (2) Induced EMF

(3) Electromagnetic induction (4) Magnetic induction
FOLER 59 &+ daitoo Dot epreisd 305508,

(1) S Soes 2y a8 EMF

(3) Ztugd e, o0 B (4)  eondnos Do

149, If a wire of length 1 m and radius 0.1 mm has a resistance of 5002, then the

resistivity of the material (in Q — m)is..........

&5 OK ey, Tgrte, D60 eo S 1 m, 0.1 mm, 50Q ecwd e A Gy, 2%
Q - mod ...

(1) 0.001237 (2) 0.005171

(3) 0.001571 (4) 0.002137

150. The resistance of the bulb on which 60 W and 120 V is marked (in Ohm) is......

60W, 120 V & ohaiany wé) 5o1dd 36%0 (£5:06%) eovnennnen.....
@) 120 (2) 240
(3) 200 @ 220

Y-2 ©[31] Turn Over



